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Problem 1 (10)

(a) For the input x(t) and output y(t) given as 3)
y =3+ 3
Is the system is Linear or Non linear , Explain 7
3)

(b) For the input' x(t) and output y(t) given as

y()=x@")

Is the system is time invariant or time variant , Explain ?

5@ —4)e ™ 1 @)

(c ) Evaluate

(d)Evaluate  O(f — 4)*e “20-3)  ere * is the convolution operator 7 (2)
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Problem 2 (135)

Let x(t) be a signal as shown below

x(t)

f
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(a) Expand x(t) in terms of the singularities functions ? )]

(b) Calculate the energy and average power of x(t) 7  (6)

(c) Is x(t) an energy or a power signal ? Explain ? (2)
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Problem 3 (15)

Let the signals x(t) and y(t) as shown below
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olobion & Evaluate the convolutiog integral x(t)*y(t) ?
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Problem 4 (20)

: g
Let x(t) be a periodical function shown below 2
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(a) Find the trigonometric Fourier series coefficient ay and by foralln? (16)

(b) Evaluate the coefficient an and by, associated with the harmonic of

frequency 1 Hz? 4)
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